
Arithmetic Challenge 4

70 ÷ 10 =                 82 + 7 =                 2 × 5 =                 48 - 32 =                  

26 + 24 =                 93 - 12 =                 10 × 3 =                 8 ÷ 2 =                 

47 + 12 =                 2 × 3 =                 25 ÷ 5 =                 56 - 7 =                 

28 - 19 =                 120 ÷ 10 =                 37 + 19 =                6 × 10 =                 

65 + 31 =                 63 - 9 =                 5 × 8 =                 60 ÷ 5 =                 
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Arithmetic Challenge 4 Answers

70 ÷ 10 = 7 82 + 7 = 89 2 × 5 = 10 48 - 32 = 16

26 + 24 = 50 93 - 12 = 81 10 × 3 = 30 8 ÷ 2 = 4

47 + 12 = 59 2 × 3 = 6 25 ÷ 5 = 5 56 - 7 = 49

28 - 19 = 9 120 ÷ 10 = 12 37 + 19 = 56 6 × 10 = 60

65 + 31 = 96 63 - 9 = 54 5 × 8 = 40 60 ÷ 5 = 12
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